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| Pre Exams.
SA Set No 135

Directions: Study the following information carefully and answer the questions given beside.

Certain number of persons sit around a square table such that nobody sits at the corner and not more than 4
persons sit around each of the sides. Information about few persons is given and all the persons face towards
the centre. Only 4 persons sit between P and T, who is on the immediate left of Q. S is sixth to the right of U. R
is at a gap of two persons from U, who is adjacent to T. Only one person sits between R and V, who is third to
the right of S.

1. How many such persons sit around the table about whom no information is given?

A 14 B.7 C.9 D. 10 E.5

2. What is the position of R with respect to Q?

A. Immediate right  B. Fifth to the right  C. Fifth to the left D. Immediate left E. None of these

3. How many persons sit between S and P when counted from the left of latter?
A. None B.2 C.4 D.3 E.6
4. Four of the following five are alike in a certain way and thus form a group. Which of

the following does not belong to the group?

A.R-P B.Q-S C.T-U D.P-V E.T-Q

. What is the position of X with respect to S, if X sits exactly in the middle of Q and S
provided position of X should not overlap with anybody else?

A. Second to the left B. X cannot be placed exactly in the middle C. Immediate left
D. Third to the left E. None of these

Correct Answers:

Common explanation :




Reference:

S is sixth to the right of U.

R is at a gap of two persons from U, who is adjacent to T.

Only 4 persons sit between P and T, who is on the immediate left of Q.

Inference:

Following two cases are possible with respect to the given hints.
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Reference:
Only one person sits between R and V, who is third to the right of S.
Inference:
Thus Case-1 fails to satisfy the given hint.
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There are 7 such persons who sit around the table though no information is given about them.

Hence option B is correct.

R is fifth to the left of Q.

Hence option Cis correct.

Three persons sit between S and P when counted from the left of latter.

Hence option D is correct.

Q-S is the odd one out because in rest combinations both the persons are sitting adjacent.

Hence option B is correct.

In such a case, X will be second to the left of S.

Hence option A is correct.
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